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CO-ORDINATE GEOMETRY

Exercise 5 1

1. Find the area of the triangle formed by the points. 

Watch Video Solution

(1, − 1), ( − 4, 6), ( − 3, − 5)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_1OC7AC2UHAyY
https://dl.doubtnut.com/l/_3PWifwmpJ2O7


2. Find the area of the triangle formed by the points. 

Watch Video Solution

( − 10, − 4), ( − 8, − 1) and ( − 3, − 5)

3. Determine whether the sets of points at collinear? 

Watch Video Solution

( , 3), ( − 5, 6) and ( − 8, 8)
−1

2

4. Determine whether the sets of points at collinear? 

Watch Video Solution

(a, b + c), (b, c + a) and (c, a + b)

https://dl.doubtnut.com/l/_3PWifwmpJ2O7
https://dl.doubtnut.com/l/_j5ToJ01xvHeX
https://dl.doubtnut.com/l/_BpbqQ1Or4OtD


Watch Video Solution

5. Vertices of given triangles are taken in order and

their areas are provided aside. In each case, find the

value of 'p'. 

Watch Video Solution

S.No. Vertices Area(sq. units )

(i) (0,0),(p,8),(6,2) 20

(ii) (p,p),(5,6),(5-2) 32

6. In the each of the following, find the value of 'a' for

which the given points are collinear. 

Watch Video Solution

(2, 3), (4, a) and (6, − 3)

https://dl.doubtnut.com/l/_BpbqQ1Or4OtD
https://dl.doubtnut.com/l/_74lcYizGkFbE
https://dl.doubtnut.com/l/_vhyazINFJbMx


7. In the each of the following, find the value of 'a' for

which the given points are collinear. 

Watch Video Solution

(a, 2 − 2a), ( − a + 1, 2a) and ( − 4 − a, 6 − 2a)

8. Find the area of the quadrilateral whose vertices

are at 

Watch Video Solution

( − 9, − 2), ( − 8, − 4), (2, 2) and (1, − 3)

https://dl.doubtnut.com/l/_vhyazINFJbMx
https://dl.doubtnut.com/l/_XlwApMboxstB
https://dl.doubtnut.com/l/_AJOSHqqohAsI
https://dl.doubtnut.com/l/_QqaRQqZQDMrT


9. Find the area of the quadrilateral whose vertices

are at 

Watch Video Solution

( − 9, 0), ( − 8, 6), ( − 1, − 2) and ( − 6, − 3)

10. Find the value of k, if the area of a quadrilateral is

28 sq.units, whose vertices are

Watch Video Solution

( − 4, − 2), ( − 3, k), (3, − 2) and (2, 3)

https://dl.doubtnut.com/l/_QqaRQqZQDMrT
https://dl.doubtnut.com/l/_JDtBTpgAYPoi


11. If the points 

are collinear and if , find the a and b.

Watch Video Solution

A( − 3, 9), B(a, b) and C(4, − 5)

a + b = 1

12. Let P(11, 7), Q(13.9, 4) an dR(9.5, 4) be the mid

points of the sides AB, BC and AC respectively of

. Find the coordinates of the vertices A, B,

and C. Hence find the area of  and compare

this with area of .

Watch Video Solution

△ ABC

△ ABC

△ PQR

https://dl.doubtnut.com/l/_e0QqhWOhPFfN
https://dl.doubtnut.com/l/_TkYnqKJG3uzD


13. In the figure, the quadrilateral swimming pool

shown is surrounded by concrete patio. Find the area

of the patio. 

Watch Video Solution

14. A triangle shaped glass with vertices at

 has to be

painted. If one bucket of paint covers 6 square feet,

A( − 5, − 4), B(1, 6) and C(7, − 4)

https://dl.doubtnut.com/l/_fvhgDxBQSQSQ
https://dl.doubtnut.com/l/_W2QQZsRvkAU9


how many buckets of paint will be required paint is

applied.

Watch Video Solution

15. In the figure, find area of 

triangle AGF 

Watch Video Solution

https://dl.doubtnut.com/l/_W2QQZsRvkAU9
https://dl.doubtnut.com/l/_d7WrrRDAeIAF


16. In the figure, find area of 

triangle FED 

Watch Video Solution

17. In the figure, find the area of 

quadrilateral BCEG.

Watch Video Solution

https://dl.doubtnut.com/l/_0Xv1U6ihjXLr
https://dl.doubtnut.com/l/_HZCsFngfKbBJ


Exercise 5 2

1. What is the slope of a line whose inclination with

positive direction of x-axis is 

Watch Video Solution

90∘

2. What is the slope of a line whose inclination with

positive direction of x-axis is 

Watch Video Solution

90∘

https://dl.doubtnut.com/l/_HZCsFngfKbBJ
https://dl.doubtnut.com/l/_7ejrNZaGU6PV
https://dl.doubtnut.com/l/_Zx40lham5lMu


3. What is the inclination of a line whose slope is 

0

Watch Video Solution

4. What is the inclination of a line whose slope is 

1

Watch Video Solution

5. Find the slope of a line joining the points 

 with origin(5, √5)

https://dl.doubtnut.com/l/_Zx40lham5lMu
https://dl.doubtnut.com/l/_lveTaP3M4DeY
https://dl.doubtnut.com/l/_usSYCNMqy5a0
https://dl.doubtnut.com/l/_Us72wWPNBoDE


Watch Video Solution

6. Find the slope of a line joining the points

 and  with the origin

Watch Video Solution

(sin θ, − cos θ) ( − sin θ, cos θ)

7. What is the slope of a line perpendicular to the

line joining  and P where P is the mid-point of

the segment joining (4, 2)) and (-6, 4).

Watch Video Solution

A(5, 1)

https://dl.doubtnut.com/l/_Us72wWPNBoDE
https://dl.doubtnut.com/l/_kAUeQOKpS1KP
https://dl.doubtnut.com/l/_Y2JbHvmWrgk6
https://dl.doubtnut.com/l/_w6Omo6RFfqXC


8. Show that the given points are collinear:

Watch Video Solution

( − 3, − 4), (7, 2) and (12, 5)

9. If the three points  are

collinear, find the value of a.

Watch Video Solution

(3, − 1), (a, 3), (1, − 3)

10. The line through the points 

has slope . Find the value of a.

Watch Video Solution

( − 2, a) and (9, 3)

−1

2

https://dl.doubtnut.com/l/_w6Omo6RFfqXC
https://dl.doubtnut.com/l/_bRwKOcg4coBW
https://dl.doubtnut.com/l/_4mvbc1RjcAZf


11. The line thorugh the point 

perpendicular to the line through the points

. Find the value of x.

Watch Video Solution

( − 2, 6) and (4, 8)

(8, 12) and (x, 24)

12. Show that the given points form a right angled

triangle and check whether they satisfies pythagoras

theorem. 

Watch Video Solution

A(1, − 4), B(2, − 3) and C(4, − 7)

https://dl.doubtnut.com/l/_4mvbc1RjcAZf
https://dl.doubtnut.com/l/_QwbpeyWZSgrU
https://dl.doubtnut.com/l/_M5IyeXz03XMx
https://dl.doubtnut.com/l/_S2of8fqcHy0P


13. Show that the given points form a right angled

triangle and check whether they satisfies pythagoras

theorem. 

Watch Video Solution

L(0, 5), M(9, 12) and N(3, 14)

14. Show that the given points form a parallelogram:

.

Watch Video Solution

A(2.5, 3.5), B(10, − 4), C(2.5, − 2.5) and D( − 5, 5)

https://dl.doubtnut.com/l/_S2of8fqcHy0P
https://dl.doubtnut.com/l/_eSOdUVacsABn


15. If the points

form a parallelogram then find the value of x and y.

Watch Video Solution

A(2, 2), B( − 2, − 3), C(1, − 3) and D(x, y)

16. Let

.

Show that ABCD is a trapezium.

Watch Video Solution

A(3, − 4), B(9, − 4), C(5, − 7) and D(7, − 7)

https://dl.doubtnut.com/l/_i1wIJKpHdDX6
https://dl.doubtnut.com/l/_B2DmAAtwlsgu


17. A quadrilateral has vertices at

.

Show that the mid-point of its sides form a

parallelogram.

Watch Video Solution

A( − 4, − 2), B(5, − 1), C(6, 5) and D( − 7, 6)

18. PQRS is a rhombus . Its diagonals PR and QS

intersect at the point M and satisfy QS=2PR. If the

coordinates of S and M are (1,1) and (2,-1) respectively

https://dl.doubtnut.com/l/_s5upCKPusj37
https://dl.doubtnut.com/l/_g0vyKFmiHuo3


Exercise 5 3

, find the coordinates of P . 

Watch Video Solution

1. Find the equation of a straight line passing

through the mid-point of a line segment joining the

https://dl.doubtnut.com/l/_g0vyKFmiHuo3
https://dl.doubtnut.com/l/_SrjAaY8TFDd1


points  and parallel to 


X axis

Watch Video Solution

(1, − 5), (4, 2)

2. Find the equation of a straight line passing

through the mid-point of a line segment joining the

points  and parallel to 


Y axis

Watch Video Solution

(1, − 5), (4, 2)

https://dl.doubtnut.com/l/_SrjAaY8TFDd1
https://dl.doubtnut.com/l/_gZio4rn4Ontn


3. The equation of a straight line is

. Find its slope, inclination and

intercept on the Y axis.

Watch Video Solution

2(x − y) + 5 = 0

4. Find the equation of a line whose inclination is

 and making intercept -3 on the y axis.

Watch Video Solution

30∘

5. Find the slope and y intercept of

√3x + (1 − √3)y = 3

https://dl.doubtnut.com/l/_PXobRfRig91t
https://dl.doubtnut.com/l/_FVNsslASNca1
https://dl.doubtnut.com/l/_Xz9O8VX8ZpOr


Watch Video Solution

6. Find the value of 'a', if the line through

 is perpendicular to .

Watch Video Solution

( − 2, 3) and (8, 5) y = ax + 2

7. The hill in the form of a right triangle has its foot

at (19, 2). The inclination of the hill to the ground is

. Find the equation of the hill joining the foot

and top.

Watch Video Solution

45∘

https://dl.doubtnut.com/l/_Xz9O8VX8ZpOr
https://dl.doubtnut.com/l/_w2Q88NPgBUOC
https://dl.doubtnut.com/l/_C7tnuG3i2T8v


8. Find the equation of a line through the given pair

of points  


Watch Video Solution

(x1, y1), (x2, y2)

(2, ) and ( , − 2)
2

3

−1

2

9. Find the equation of a line through the given pair

of points  


Watch Video Solution

(x1, y1), (x2, y2)

(2, 3) and ( − 7, − 1)

https://dl.doubtnut.com/l/_Ioq6YsXY7BxC
https://dl.doubtnut.com/l/_CSsCXClfygSh


10. A cat is located at the point  in xy

plane. A bottle of milk is kept at (5,11).The cat wishes

to consume the milk travelling through shortest

possible distance. Find the equation of the path it

needs to take its milk.

Watch Video Solution

( − 6, − 4)

11. Find the equation of the median and altitude of

 through A where the vertices are 

.

Watch Video Solution

△ ABC

A(6, 2), B( − 5, − 1) and C(1, 9)

https://dl.doubtnut.com/l/_WIhBsTCgQXTb
https://dl.doubtnut.com/l/_xJ7QX49Teluq


12. Find the equation of a straight line which has

slope  and passing through the point .

Watch Video Solution

−5

4
( − 1, 2)

13. You are downloading a song. The percent y (in

decimal form) of mega bytes remaining to get

downloaded in x seconds is given by . 


find the total MB of the song.

Watch Video Solution

y = 0.1x + 1

https://dl.doubtnut.com/l/_xdYdjVNRwULy
https://dl.doubtnut.com/l/_NfdYGJKocJKm


14. You are downloading a song. The percent y (in

decimal form) of mega bytes remaining to get

downloaded in x seconds is given by . 


find the total MB of the song.

Watch Video Solution

y = 0.1x + 1

15. You are downloading a song. The percent y (in

decimal form) of mega bytes remaining to get

downloaded in x seconds is given by . 


after how many seconds will 75% of the song gets

downloaded?

Watch Video Solution

y = 0.1x + 1

https://dl.doubtnut.com/l/_yXO72qplW8LI
https://dl.doubtnut.com/l/_Dnnyks4Bktjp


16. You are downloading a song. The percent y (in

decimal form) of mega bytes remaining to get

downloaded in x seconds is given by . 


after how many seconds the song will be

downloaded completely?

Watch Video Solution

y = 0.1x + 1

17. Find the equation of the line whose intercepts on

the x and y axes are given below. 

4, -6

Watch Video Solution

https://dl.doubtnut.com/l/_Dnnyks4Bktjp
https://dl.doubtnut.com/l/_i0bZxgBLHjsc
https://dl.doubtnut.com/l/_OeVLdGT3LbRC


18. Find the equation of the line whose intercepts on

the x and y axes are given below. 

-5, (3)/(4)

Watch Video Solution

19. Find the intercept made by the following lines on

the coordinate axes. 

3x-2y-6=0`

Watch Video Solution

https://dl.doubtnut.com/l/_OeVLdGT3LbRC
https://dl.doubtnut.com/l/_oJaGnma6vWGs
https://dl.doubtnut.com/l/_7UUwy06Kbtf7


20. Find the intercept made by the following lines on

the coordinate axes. 

Watch Video Solution

4x + 3y + 12 = 0

21. Find the equation of a straight line 

Passing through (1, -4) and has intercepts which are

in the ratio 2:5

Watch Video Solution

https://dl.doubtnut.com/l/_AYMzbOBTXeUr
https://dl.doubtnut.com/l/_PzupF6PycsGR


Exercise 5 4

22. Find the equation of a straight line 

Passing through (-8, 4) and making equal intercepts

on the coordinate axes.

Watch Video Solution

1. Find the slope of the following straight lines 

Watch Video Solution

5y − 3 = 0

https://dl.doubtnut.com/l/_iR7zjaJbY4Zz
https://dl.doubtnut.com/l/_siaQreI3UaNT
https://dl.doubtnut.com/l/_ngY3cf7ZpIeM


2. Find the slope of the following straight lines 

Watch Video Solution

7x − = 0
3

17

3. Find the slope of line which is 

parallel to 

Watch Video Solution

y = 0.7x − 11

4. Find the slope of line which is 

perpendicular to the line 

Watch Video Solution

x = − 11

https://dl.doubtnut.com/l/_ngY3cf7ZpIeM
https://dl.doubtnut.com/l/_b3JLEy6JaIrH
https://dl.doubtnut.com/l/_Z3fAyOgtU8X1


5. Check whether the given lines are parallel or

perpendicular 

Watch Video Solution

+ + = 0 and + + = 0
x

3

y

4

1

7

2x

3

y

2

1

10

6. Check whether the given lines are parallel or

perpendicular 

Watch Video Solution

5x + 23y + 14 = 0 and 23x − 5y + 9 = 0

https://dl.doubtnut.com/l/_Z3fAyOgtU8X1
https://dl.doubtnut.com/l/_EbTNbbcoEa2t
https://dl.doubtnut.com/l/_PP4lUOmZbSMO


7. If the straight lines

 are

perpendicular then find 'p'.

Watch Video Solution

12y = − (p + 3)x + 12, 12x − 7y = 16

8. Find the equation of a straight line passing

through the point  and parallel to the line

joining the points .

Watch Video Solution

P ( − 5, 2)

Q(3, − 2) and R( − 5, 4)

https://dl.doubtnut.com/l/_evuWl5tHJke3
https://dl.doubtnut.com/l/_bciQ5W00DRyT


9. Find the equation of a line passing thorugh

 and perpendicular to the line joining the

point .

Watch Video Solution

(6, − 2)

(6, 7) and (2, − 3)

10.  are the

vertices of . Find the equation of the

altitude through A and B.

Watch Video Solution

A( − 3, 0), B(10, − 2) and C(12, 3)

△ ABC

https://dl.doubtnut.com/l/_4cUqv6Ol8Dyl
https://dl.doubtnut.com/l/_IyrcTjl3VDoV


11. Find the equation of the perpendicular bisector of

the line joinging the point

.

Watch Video Solution

A( − 4, 2) and B(6, − 4)

12. Find the equation of a straight line through the

intersection of lines  and

parallel to the lines .

Watch Video Solution

7x + 3y = 10, 5x − 4y = 1

13x + 5y + 12 = 0

https://dl.doubtnut.com/l/_DoEYgsiDkJch
https://dl.doubtnut.com/l/_LEZX6mr5T6f4


13. Find the equation of a straight line through the

intersection of lines 

and perpendicular to the line .

Watch Video Solution

3x + 2y = 10 and 5x − 6y = 2

4x − 7y + 13 = 0

14. Find the equation of a straight line joining the

point of intersection of

 to the point of

intersection of .

Watch Video Solution

3x + y + 2 = 0 and x − 2y − 4 = 0

7x − 3y = − 12 and 2y = x + 3

https://dl.doubtnut.com/l/_BsA6G9JA7LPS
https://dl.doubtnut.com/l/_4znkXCUNaYSn


Exercise 5 5

15. Find the equation of a straight line through the

point of intersection of the lines

 and bisecting the line

segment joining the points .

Watch Video Solution

8x + 3y = 18, 4x + 5y = 9

(5, − 4) and ( − 7, 6)

1. The area of triangle formed by the points

 is

A. 0 sq.units

( − 5, 0), (0, − 5) and (5, 0)

https://dl.doubtnut.com/l/_QzVZSNwGRnkY
https://dl.doubtnut.com/l/_mekAWU2YI2U8


B. 25 sq.units

C. 5 sq.units

D. none of these

Answer: B

Watch Video Solution

2. A man walks near a wall, such that the distance

between him and the wall is 10 units. Consider the

wall to be the Y axix. The path travelled by the man is

A. x=10

https://dl.doubtnut.com/l/_mekAWU2YI2U8
https://dl.doubtnut.com/l/_tYCXtvXcbYgH


B. y=10

C. x=0

D. y=0

Answer: A

Watch Video Solution

3. The straight line given by the equation  is

A. parallel to X axis

B. parallel to Y axis

C. passing through the origin

x = 11

https://dl.doubtnut.com/l/_tYCXtvXcbYgH
https://dl.doubtnut.com/l/_CnYyrXTpkwTb


D. passing through the point (0,11)

Answer: B

Watch Video Solution

4. If  are collinear, then the

value of p is

A. 3

B. 6

C. 9

D. 12

(5, 7), (3, p) and (6, 6)

https://dl.doubtnut.com/l/_CnYyrXTpkwTb
https://dl.doubtnut.com/l/_ATnLoH2NlTO8


Answer: C

Watch Video Solution

5. The point of intersection of

 is

A. (5,3)

B. (2,4)

C. (3,5)

D. (4,4)

Answer: C

3x − y = 4 and x + y = 8

https://dl.doubtnut.com/l/_ATnLoH2NlTO8
https://dl.doubtnut.com/l/_HxJCFDo90JVX


Watch Video Solution

6. The slope of the line joining  is .

The value of 'a' is

A. 1

B. 4

C. 

D. 2

Answer: D

Watch Video Solution

(12, 3), (4, a)
1

8

−5

https://dl.doubtnut.com/l/_HxJCFDo90JVX
https://dl.doubtnut.com/l/_K3OYJyUvmXwf
https://dl.doubtnut.com/l/_Nyso7WjLuZUr


7. The slope of the line which is perpendicular to a

line joining the points  is

A. 

B. 1

C. 

D. 

Answer: B

Watch Video Solution

(0, 0) and ( − 8, 8)

−1

1

3

−8

https://dl.doubtnut.com/l/_Nyso7WjLuZUr


8. If the slope of the line PQ is  then slope of the

perpendicular bisector of PQ is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1

√3

√3

−√3

1

√3

0

https://dl.doubtnut.com/l/_Jbnu7A3NQX5k


9. If A is a point on the Y-axis whose ordinate is 8 and

B is a point on the X-axis whose abscissae is 5 then

the equation of the line AB is ___.

A. 8x+5y=40

B. 8x-5y=40

C. x=8

D. y=5

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_G2x7UaPmPV6i


10. The equatin of a line passing through the origin

and perpendicular to the line  is

A. 7x-3y+4=0

B. 3x-7y+4=0

C. 3x+7y=0

D. 7x-3y=0

Answer: C

Watch Video Solution

7x − 3y + 4 = 0

https://dl.doubtnut.com/l/_oZra6cNtvXxf


11. Consider four straight lines 

(i)  (ii)  

(iii)  (iv)

A. and  are perpendicular

B.  and  are not parallel

C.  and  are not perpendicular

D.  and  are not parallel

Answer: C

Watch Video Solution

l1 = 3y = 4x + 5 l2 : 4y = 3x − 1

l3 : 4y + 3y = 7 l44x + 3y = 2

l1 l2

l1 l4

l2 l4

l2 l3

https://dl.doubtnut.com/l/_BVPyBKApYKf3


12. A straight line has equation . Which

of the following is true

A. The slope is 0.5 and the y intercept is 2.6

B. The slope is 5 and the y intercept is 1.6

C. The slope is 0.5 and they y intercept is 1.6

D. The slope is 5 and the y intercept is 2.6

Answer: A

Watch Video Solution

8y = 4x + 21

https://dl.doubtnut.com/l/_Obm4E3zpT4nA


13. When proving that quadrilateral is a trapezium it

is neccesary to show ____.

A. Two lines are parallel .

B. Two parallel and two non-parallel sides

C. Opposite sides are parallel.

D. All sides are of equal length .

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_blFmvVhxhFEJ


14. When proving that a quadrilateral is a

parallelogram by using slopes you must find

A. The slope of two sides

B. The slopes of two pair of opposite sides

C. The lengths of all sides

D. Both the lengths and slopes of two sides

Answer: A

Watch Video Solution

15.  is the points of intersection of two lines(2, 1)

https://dl.doubtnut.com/l/_3iH0D5kibXux
https://dl.doubtnut.com/l/_NA8UK3ocV45b


Unit Exericise

A. x-y-3=0, 3x-y-7=0

B. x+y=3 , 3x+y=7

C. 3x+y=3 , x+y=7

D. x+3y-3 =0 , x-y-7=0

Answer: B

Watch Video Solution

1. PQRS is a rectangle formed by joining the points

.P ( − 1, − 1), Q( − 1, 4), R(5, 4) and S(5, − 1)

https://dl.doubtnut.com/l/_NA8UK3ocV45b
https://dl.doubtnut.com/l/_NDXG4WOH9ALh


A, B, C and D are the mid points of PQ, QR, RS and SR

respectively. Is the quadrilateral ABCD a square, a

rectangle or a rhombus? Justify your answer.

Watch Video Solution

2. The area of a triangle is 5 units. Two of its certices

are  The third vertex lies on y =

x + 3. Find the co-ordinates of the third vertex of the

triangle.

Watch Video Solution

(2, 1) and (3, − 2).

https://dl.doubtnut.com/l/_NDXG4WOH9ALh
https://dl.doubtnut.com/l/_LP5kodIYarrj


3. Find the area of a triangle formed by lines

Watch Video Solution

3x + y − 2 = 0, 5x + 2y − 3 = 0 and 2x − y − 3 = 0

4. If vertices of a quadrilateral are at

and its area is 72 sq. units. Find the value of k.

Watch Video Solution

A( − 5, 7), B( − 4, k), C( − 1, − 6) and D(4, 5)

5. Without using distance formula, show that the

points  is( − 2, − 1), (4, 0), (3, 3) and ( − 3, 2)

https://dl.doubtnut.com/l/_ZKM3UlkIMzJC
https://dl.doubtnut.com/l/_knxe0SqdwtEv
https://dl.doubtnut.com/l/_fctgznIOappV


vertices of a parallelogram.

Watch Video Solution

6. Find the equations of the lines, whose sum and

product of intercepts are 1 and -6 respectively.

Watch Video Solution

7. The owner of a milk store finds that, he can sell 980

litres of
milk each week at Rs 14/litre and 1220 litres

of milk each week at Rs 16 /
 litre. Assuming a linear

https://dl.doubtnut.com/l/_fctgznIOappV
https://dl.doubtnut.com/l/_u4sOyFBiUs9T
https://dl.doubtnut.com/l/_oo4lsHGCVdfC


relationship between selling price and demand, how

many litres could he sell weekl

Watch Video Solution

8. Find the image of the points  with respect to

the line  assuming the line to be a plane

mirror.

Watch Video Solution

(3, 8)

x + 3y = 7

9. Find the equation of the line passing through the

point of intersection of the lines 4x + 7y − 3 = 0

https://dl.doubtnut.com/l/_oo4lsHGCVdfC
https://dl.doubtnut.com/l/_9PAxV7Ck0MIY
https://dl.doubtnut.com/l/_vpfmmowg942b


and that has equal intercepts on

the axes.

Watch Video Solution

2x − 3y + 1 = 0

10. A person standing at the junction (crossing) of

two straight paths represented by the equations

 and  wants to

reach the path whose equation is 

in the least time. Find equation of the path that he

should follow.

Watch Video Solution

2x − 3y + 4 = 0 3x + 4y − 5 = 0

6x − 7y + 8 = 0

https://dl.doubtnut.com/l/_vpfmmowg942b
https://dl.doubtnut.com/l/_sm4TrtykuuID


Thinking Corner

1. How many triangles exist , whose area is zero ?

Watch Video Solution

2. If the area of a quadrilateral formed by the points

(a,a) ,(-a,a),(a,-a) and (-a,-a), where  is 64 square

units, then identify the type of the quadrilateral. Find

all possible values of a.

Watch Video Solution

a ≠ 0

https://dl.doubtnut.com/l/_nziAIEH3zP6m
https://dl.doubtnut.com/l/_1NWr9vf73Pm4


3. The straight lines X axis and Y axis are

perpendicular to each other . Is the condition

 true ?

Watch Video Solution

m1m2 = − 1

4. Provide three examples of using the concept of

slope in real-life situations.

Watch Video Solution

5. Is it possible to express, the equation of a straight

line in slope-intercept form, when it is parallel to Y

https://dl.doubtnut.com/l/_F72jyd8nOQmH
https://dl.doubtnut.com/l/_D4APnVnXD47S
https://dl.doubtnut.com/l/_W64n7vtfSWxN


axis ?

Watch Video Solution

6. How many straight lines do you have with slope 1 ?

Watch Video Solution

7. Find the number of point of intersection of two

straight lines .

Watch Video Solution

https://dl.doubtnut.com/l/_W64n7vtfSWxN
https://dl.doubtnut.com/l/_jPKEtJgd28G6
https://dl.doubtnut.com/l/_rOHtm6hu49rO


Progress Check

8. Find the number of straight lines perpendicular to

the line 2x-3y+6=0.

Watch Video Solution

1. Complete the following table . 

Watch Video Solution

https://dl.doubtnut.com/l/_HViBazt1hAtn
https://dl.doubtnut.com/l/_Jf6iWBxqOWSV
https://dl.doubtnut.com/l/_GEaocN2vwhog


2. A(0,5) , B(5,0) and C(-4,-7) are vertices of a triangle

then its centroid will be at ……

Watch Video Solution

3. The vertices of  are P(0,-4),Q(3,1) and

R(-8,1) 

△ PQR

https://dl.doubtnut.com/l/_GEaocN2vwhog
https://dl.doubtnut.com/l/_eCZ0M9CNlEWc


 


Draw  on a graph paper .

Watch Video Solution

△ PQR

4. The vertices of  are P(0,-4),Q(3,1) and

R(-8,1) 

△ PQR

https://dl.doubtnut.com/l/_eCZ0M9CNlEWc
https://dl.doubtnut.com/l/_bCk9OxCrEXsM


 


Check if  is equilateral .

Watch Video Solution

△ PQR

5. The vertices of  are P(0,-4),Q(3,1) and

R(-8,1) 

△ PQR

https://dl.doubtnut.com/l/_bCk9OxCrEXsM
https://dl.doubtnut.com/l/_eGwJhxGgh4dc


 


Find the area of .

Watch Video Solution

△ PQR

6. The vertices of  are P(0,-4),Q(3,1) and

R(-8,1) 

△ PQR

https://dl.doubtnut.com/l/_eGwJhxGgh4dc
https://dl.doubtnut.com/l/_3BCDleCcHG8u


 


Find the coordinates of M , the mid-point of QP.

Watch Video Solution

7. The vertices of  are P(0,-4),Q(3,1) and

R(-8,1) 

△ PQR

https://dl.doubtnut.com/l/_3BCDleCcHG8u
https://dl.doubtnut.com/l/_kZH8Fqk5jHch


 


Find the coordinates of N, the mid-point of QR.

Watch Video Solution

8. The vertices of  are P(0,-4),Q(3,1) and

R(-8,1) 

△ PQR

https://dl.doubtnut.com/l/_kZH8Fqk5jHch
https://dl.doubtnut.com/l/_N8j6aP5Mro50


 


Find the area of .

Watch Video Solution

△ MPN

9. The vertices of  are P(0,-4),Q(3,1) and

R(-8,1) 

△ PQR

https://dl.doubtnut.com/l/_N8j6aP5Mro50
https://dl.doubtnut.com/l/_HasjKqV5Dta5


 


What is the ratio between the areas of 

and  ?

Watch Video Solution

△ MPN

△ PQR

10. Given a quadrilateral ABCD with vertices

A(-3,-8),B(6,-6),C(4,2) and D(-8,2). 

https://dl.doubtnut.com/l/_HasjKqV5Dta5
https://dl.doubtnut.com/l/_vcfsFE4BXSpZ


 


Find the area of  .

Watch Video Solution

△ ABC

11. Given a quadrilateral ABCD with vertices

A(-3,-8),B(6,-6),C(4,2) and D(-8,2). 

https://dl.doubtnut.com/l/_vcfsFE4BXSpZ
https://dl.doubtnut.com/l/_4g3NsiJawk1n


 


Find the area of .

Watch Video Solution

△ ACD

12. Given a quadrilateral ABCD with vertices

A(-3,-8),B(6,-6),C(4,2) and D(-8,2). 

https://dl.doubtnut.com/l/_4g3NsiJawk1n
https://dl.doubtnut.com/l/_f3seanQjzLob


 


Calculate area of + area of 

Watch Video Solution

△ ABC △ ACD

13. Given a quadrilateral ABCD with vertices

A(-3,-8),B(6,-6),C(4,2) and D(-8,2). 

https://dl.doubtnut.com/l/_f3seanQjzLob
https://dl.doubtnut.com/l/_xdMkuNFu40xi


 


Find the area of quadrilateral ABCD.

Watch Video Solution

14. Write down the slope of each of the lines shown

on the grid below. One is solved for you . 

https://dl.doubtnut.com/l/_xdMkuNFu40xi
https://dl.doubtnut.com/l/_1GUiuTIwre7r


Watch Video Solution

15. Complete the following blanks 

Watch Video Solution

https://dl.doubtnut.com/l/_1GUiuTIwre7r
https://dl.doubtnut.com/l/_VBXqKRUB099n


16. Fill the details In respective boxes 

Watch Video Solution

17. Complete the following 

Watch Video Solution

https://dl.doubtnut.com/l/_dTTnKXNw0AKY
https://dl.doubtnut.com/l/_C2IjRwNjQDAf


Activities

18. Fill the details In respective boxes 

Watch Video Solution

https://dl.doubtnut.com/l/_pAxoMU0ACNfc


1. Find the area of the shaded region. 

Watch Video Solution

https://dl.doubtnut.com/l/_dDP8Kg46YoRG


2. The diagram contain four lines . 


 


Which lines have positive slope ?

Watch Video Solution

l1, l2, l3, l4

https://dl.doubtnut.com/l/_9OaCx2nSMINs


3. The diagram contain four lines . 


 


Which lines have negative slope ?

Watch Video Solution

l1, l2, l3, l4

4. If line  is perpendicular to line  and line  has

slope 3 then find the equation of line  

l1 l2 l3

l1

https://dl.doubtnut.com/l/_hyhQAYa72sy0
https://dl.doubtnut.com/l/_25GZlibyATuM


Watch Video Solution

5. If line  is perpendicular to line  and line  has

slope 3 then find the equation of line  

l1 l2 l3

l2

https://dl.doubtnut.com/l/_25GZlibyATuM
https://dl.doubtnut.com/l/_KDZfKwVr33mm


Watch Video Solution

6. If line  is perpendicular to line  and line  has

slope 3 then find the equation of line  

l1 l2 l3

l1

https://dl.doubtnut.com/l/_KDZfKwVr33mm
https://dl.doubtnut.com/l/_RHG5cvtDoDDU


Watch Video Solution

7. A ladder is placed against a vertical wall with its

foot touching the horizontal floor . Find the equation

of the ladder under the following conditions.

Watch Video Solution

https://dl.doubtnut.com/l/_RHG5cvtDoDDU
https://dl.doubtnut.com/l/_sl2JKDEoWzSR


Watch Video Solution

8. Find the equation of a straight line for the given

diagrams. 

Watch Video Solution

https://dl.doubtnut.com/l/_sl2JKDEoWzSR
https://dl.doubtnut.com/l/_hzam5cqBnfvE


9. Find the equation of a straight line for the given

diagrams. 

Watch Video Solution

10. Find the equation of a straight line for the given

diagrams. 

https://dl.doubtnut.com/l/_9hhxcNLwbN22
https://dl.doubtnut.com/l/_4TrP6NjHAoxI


Watch Video Solution

11. Find the equation of a straight line for the given

diagrams. 

https://dl.doubtnut.com/l/_4TrP6NjHAoxI
https://dl.doubtnut.com/l/_Ni9usWcYA1iN


Other Important Objective

Watch Video Solution

1. The area of the triangle formed by the points (0,0),

(3,0) and (0,4) is :

https://dl.doubtnut.com/l/_Ni9usWcYA1iN
https://dl.doubtnut.com/l/_yzOnhaBHRrea


A. 12 sq.units

B. 4 sq. units

C. 5 sq.units

D. 6 sq.units

Answer: D

Watch Video Solution

2. The line y=k is

A. Parallel to y -axis

B. Parallel to x -axis

https://dl.doubtnut.com/l/_yzOnhaBHRrea
https://dl.doubtnut.com/l/_uwKzFqdUKIwG


C. Passing through origin

D. Passing through (k,0)

Answer: B

Watch Video Solution

3. If the points (7,-2) (3,-6) and (5,k) are collinear then

the value of k is :

A. 4

B. 

C. 

−8

−4

https://dl.doubtnut.com/l/_uwKzFqdUKIwG
https://dl.doubtnut.com/l/_q6z46WQuLTHP


D. 10

Answer: C

Watch Video Solution

4. The line 5x-2y=11 and 2x+3y=12 intersect at :

A. (3,2)

B. (-3,-2)

C. (-3,2)

D. (3,-2)

Answer: A

https://dl.doubtnut.com/l/_q6z46WQuLTHP
https://dl.doubtnut.com/l/_cNnaxZAqc5kL


Watch Video Solution

5. The slope of the line 3x+2y-7=0 is :

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

7
2

7
3

−2

3

−3

2

https://dl.doubtnut.com/l/_cNnaxZAqc5kL
https://dl.doubtnut.com/l/_Xq9dFOxcqeKn


6. The slope of the line joining (-2,-1) and (-5,8) is :

A. 

B. 

C. 

D. 3

Answer: B

Watch Video Solution

1

3

−3

−1

3

7. If A is (-7,2) and B is (2,-3) then the slope of the line

perpendicular to AB is :

https://dl.doubtnut.com/l/_ybsxGbC2yTLC
https://dl.doubtnut.com/l/_CXTEGF9J8bPW


A. 

B. 

C. 

D. 

Answer:

Watch Video Solution

−9

5

5

9

−5

9

9

5

8. The equation of line through (2,1) and parallel to

x+2y=5 is :

A. x+2y=4

https://dl.doubtnut.com/l/_CXTEGF9J8bPW
https://dl.doubtnut.com/l/_YNzLkwPPMKsr


B. x+2y=5

C. x-2y=4

D. 2x-y=4

Answer: A

Watch Video Solution

9. The equation of a line through origin and

perpendicular to the line 23x-11y+7=0 is :

A. 23x-11y=0

B. 11x-23y=0

https://dl.doubtnut.com/l/_YNzLkwPPMKsr
https://dl.doubtnut.com/l/_4pBnEnnYGgjv


C. 11x+23y=0

D. 11x+23y+7=0

Answer: C

Watch Video Solution

10. The vertices of a  are (1,4)(3,5) and (-1,0)

then its centroid is :

A. (-1,-3)

B. (1,3)

C. (1,-3)

△ ABC

https://dl.doubtnut.com/l/_4pBnEnnYGgjv
https://dl.doubtnut.com/l/_TMOXBL8sDxY7


D. (-1,3)

Answer: B

Watch Video Solution

11. The area of the triangle ABC whose vertices are

(2,1) (-3,4) (6,2) is :

A. 8.5 sq. units

B. 7.5 sq.units

C. 6.5 sq.units

D. 9.5 sq.units

https://dl.doubtnut.com/l/_TMOXBL8sDxY7
https://dl.doubtnut.com/l/_TNN3ghsIinmx


Answer: A

Watch Video Solution

12. If P(-1,2) , Q(k,-2) , R(7,4) are the vertices of

 whose area is 22 sq.units then k is :

A. 5

B. 6

C. 7

D. 4

Answer: A

△ PQR

https://dl.doubtnut.com/l/_TNN3ghsIinmx
https://dl.doubtnut.com/l/_2rCWKVcwUcVr


Watch Video Solution

13. Given that the points (-4,-1) (a,b) and (-2,5) are

collinear and if a+2b=1 find (a,b):

A. (-2,3)

B. (-3,2)

C. (-3,-5)

D. (-1,-3)

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_2rCWKVcwUcVr
https://dl.doubtnut.com/l/_GomFdDNgJ5hZ
https://dl.doubtnut.com/l/_r2iLK1oBflV2


14. If (9,a) (3,2) (4,-1) are the vertices of a 

whose area is 7.5 sq.cm then a is :

A. 4

B. 3

C. 2

D. -1

Answer: D

Watch Video Solution

△ ABC

https://dl.doubtnut.com/l/_r2iLK1oBflV2


15. The equation of a straight line whose x intercept

is 3 and y intercept is 4 is :

A. 4x+3y-12=0

B. 4x-3y-12=0

C. 3x+4y-12=0

D. 3x-4y-12=0

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_PdDpfxzdfEx0


16. The equation of the line with slope  and

passing through origin is :

A. 2y-x=0

B. x-2y=0

C. y-2x=0

D. 2x+y+1=0

Answer: A

Watch Video Solution

1

2

https://dl.doubtnut.com/l/_7QWYUMxiVc7U


17. The equation of any straight line parallel to y-axis

and passing through (2,5) is :

A. x+2=0

B. x-2=0

C. y+5=0

D. y-5=0

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_xK77BZJPQ3tN


18. The equation of the line whose inclination is 

and x-intercept 7 is :

A. x+y-7=0

B. x-y+7=0

C. x-y-7=0

D. x+y+7=0

Answer: C

Watch Video Solution

45∘

https://dl.doubtnut.com/l/_YwxqKuNQRQ4j


19. The equation of a line through (-2,3) and where

slope is  is given by :

A. y-3x+11=0

B. x-3y+11=0

C. y+3x-11=0

D. x+3y-11=0

Answer: B

Watch Video Solution

1

3

20. Equation of the line joining (6,10) and (14,12) is :

https://dl.doubtnut.com/l/_zR0W3klsmAY0
https://dl.doubtnut.com/l/_r6E38PnpgWiq


A. 4x-y-34=0

B. x+4y+34=0

C. x-4y+34=0

D. 4x+y+34=0

Answer: C

Watch Video Solution

21. The equation of a straight line through (2,1) with

equal intercepts on the coordinate axes is :

A. x+y-3=0

https://dl.doubtnut.com/l/_r6E38PnpgWiq
https://dl.doubtnut.com/l/_WzuYu5LwfWZd


B. x-y-3=0

C. x+y+3=0

D. x-y+3=0

Answer: A

Watch Video Solution

22. Find the value of 'a' if the line through (-2,5)(2,-3)

is perpendicular to y=ax+3

A. 2

B. 
1

2

https://dl.doubtnut.com/l/_WzuYu5LwfWZd
https://dl.doubtnut.com/l/_MG5VKHkIAGLe


C. 

D. 3

Answer: B

Watch Video Solution

1

3

23. The x and y intercepts of the line 2x+5y=10 are :

A. (5,2)

B. (2,5)

C. (-2,-5)

D. (-5,-2)

https://dl.doubtnut.com/l/_MG5VKHkIAGLe
https://dl.doubtnut.com/l/_X3eThVFS7Dbn


Answer: A

Watch Video Solution

24. Find the slope of the line which is perpendicular

to 2x-4y+5=0

A. 

B. 

C. 

D. 2

Answer: C

1

2

−1

2

−2

https://dl.doubtnut.com/l/_X3eThVFS7Dbn
https://dl.doubtnut.com/l/_Grux9YmwI5Qw


Watch Video Solution

25. A(-3,0),B(1,3),C(2,-1) are the vertices of .

Then the equation of the altitude from A to BC is :

Watch Video Solution

△ ABC

https://dl.doubtnut.com/l/_Grux9YmwI5Qw
https://dl.doubtnut.com/l/_WoNyaTdMBsoo

